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and pressure? (6) i
(iii) Give one reason why carbon dioxide is more easily liquefied than helium. A3)

(¢) The halogens are good oxidising agents.

(1) How does the oxidation number of the oxidising agent change during a redox reaction? @
(if) Assign oxidation numbers in each of the following equations to show clearly that the halogen
is the oxidising agent in each case. (12)
Br; + 2Fe” - 2BI” +  2Fe”

Cc, + SO+ H,0 - car o+ SO+ hing

Hence or otherwise balance the second equation. 6)
(iif) Why does the oxidising ability of the halogens decrease down the group? A3)
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1. Answer any two of the parts (@), (b) and (c). (2 x25)
(a) In 1910 Rutherford (pictured right) and his co-workers carried out an experiment in TR -
e —

826x1169n (4]
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Answer any two of the parts (@), (b) and (c). (2x25)
A student is given a bucket of seawater.

(i) Describe how the student could determine by filtration the total suspended solids (expressed as
ppm) in the water. )

(if) How could the student determine the total dissolved solids (expressed as ppm) in a sample of the
filtered seawater? )

(iii) Describe a test to confirm the presence of the chloride ion in aqueous solution. (@]

Define oxidation in terms of (7) electron transfer, (/) change in oxidation number. (@]

(iif) For the redox reactions shown below, use oxidation numbers to identify the species oxidised in
the first reaction and the oxidising reagent in the second reaction. ©)

ao” + I + B — o + L + HO
L + 807 — I+ S0

(iv) Using oxidation numbers or otherwise balance both equations.
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